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ll Semester B.Com. Examination, AugusUSeptember 2023
(NEP - Freshers and Repeaters)

COMMERCE
Paper - 2.1 : Advanced Financial Accounting

Time : 272 Hours Max. Marks:60

lnstructions : Answer should be written compulsorily either in English
or in Kannada.

SECTION _ A

1. Answer any five sub-guestions. Each sub-question carries two marks. (5x2=10)

a) What is an Account sales ?

b) What is Joint venture ?

c) Who is lessor or landlord ?

d) State any two objectives of sale of a firm to a company.

e) Write any one difference between Joint Venture and Consignment.

f) What is realization account ?

g) State any two methods of recoupment of shortworkings.

SECTION - B

Answer any three of the following. Each question carries four marks. (3x4=121

2. Ramesh of Kodagu sent 600 packages of cotfee at t 500 per package to Rajesh
of Kolar paying freight { 15,000 and other expenses { 8,000.20 packages
were lost on the way. Rajesh took delivery of remaining packages of coffee
and sold 450 packages of coffee at < 750 per package. Ra,iesh spent for f reight
and octroi t 10,000 and unloading charges < 5,000. He remitted the amount to
Ramesh after deducting his commission of 5%.

Calculate value of unsold stock.

3. Pass the closing journal entry in the books of vendor firm.

a) For transfer of liabilities at book value

b) For assets taken over by partners

c) For payment of realization expenses. P.T.O.



DCBC - 201 r ililililt ililffit llllilil lffi llllll'

4. Raghu and Shiva entered into a joint venture with a profit sharing ralio o'f 2: 1.

Raghu contributed { 1,20,000 and Shiva < 1,60,000. The amount contributed

by them were deposited in to a joint bank account. Raghu supplied goods

worth t 1,80,000 and incurred expenses of t 12,000. Shiva supplied goods

worth t 1 ,50,000 and spent t 10,200 as expenses. Shiva sold all the goods for
t 6,50,000. Shiva settled the account by cheque.

Prepare a ioint venture account in the books of Raghu.

5. Prepare an Royalty analytical table from the following details :

a) Minimum rent < 1,00,000 p.a.

b) Royalty { 10 per ton of ore raised.

c) Right to recoup shortworkings during life time of the lease.

The output for the first four years are as follows :

Year: 2O2O 2021 2022 2023

Output (tons) : 8,000 9,000 12,000 15,000

6. Titan company takes over the following assets and liabilities from a partnership

firm.

2

't,50,000

80,000

3,00,000

SECTION _ C

Answer any three of the following. Each question carries ten marks. (3x10=30)

7. Exide Batteries Ltd., Bangalore consigned 1,000 batteries costing { 3,000
each, to Lokesh electricals of Malur. The consignor paid { 50,000 towards
freight charges and insurance t 50,000. During transit it was found that
20 batteries were lost due to theft and insurance company settled the claim
for t 20,000. Lokesh Electricals received the balance of consigned goods and

{
Land and Building 5,50,000 Plant and Machinery

lnventory 2,00,000 Book debts

Free hold property 70,000 Current liabilities

Calculate purchase consideration.
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paid unloading charges < 10,000. They accepted a bill drawn for { 15,00,000
as advance. Lokesh electrical sold 500 batteries for cash at t 4,000 each and
350 batteries on credit at < 4,500 each. They spent t 30,000 for godown rent,

{ 7,500 for advertisement and { 25,000 as salesman salary. The consignee
entitled to get an ordinary commission at 5% on sales and Del credere
commission al2o/o on credit sales. Lokesh electrical remitted the balance due
to the consignor by bank draft.

Prepare consignment Account and Lokesh electrical account in the books of
Exide Batteries.

8. Mahesh and Pandya entered into a joint venture to produce film for the

Government. The Government agrees to pay t 20,00,000. Mahesh contributes

{ 3,00,000 and Pandya contributes < 1,50,000. These amounts are paid into

joint bank account. Payment made out of joint bank account were :

Particulars Amount

Purchase of equipments 1,00,000

Hire charges of equipments 50,000

Wages 75,000

Actors remuneration 1,00,000

Materials 65'000

Other expenses 35,000

Mahesh paid t 10,000 as licensing fees. On completion, Government paid the

agreed amount. The equipments were taken over by Pandya at a valuation ol

< 2O,OOO. Profit and losses are shared in the ratio ol 2 
" 

1'

Prepare necessary ledger accounts assuming separate set of books are

maintained.

9. Anup kumar obtained from Rakesh Singh a lease of some coal bearing land

on 't"tJanuary 2020, on the following terms :

1 ) RoyaltY { 't 0 Per ton

2) Minimum Rent T 'l ,00,000 Per annum
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3) Recoupment of short-workings over the first three years only :

The following are the relevant particulars :

Year ; 2020 2021 2022 2023

Output (tons) : 8,000 8,500 12,500 14'000

PassthenecessaryjournalentriesinthebooksofAnupKumarunder
Minimum rent method.

10. Hari, Giri and Bavi were partners sharing profits and losses in the ratio of

3:3 :2. Their balance sheet as on 31 -03-2023 was as under :

Creditors 2,00,000 Plant 4,50'000

Reserves 1,25,000 Land and Building 1,00'000

Accounts payable 75,000 Stock 1,20'000

Capitals : Hari 2,00,000 Debtors 1,50,000

Giri 2,00,000 Less: RBDD 10,000

Ravi 1,00,000 1,40,000

B/R 60,000

Cash in hand 30,000

g,oo,ooo g,oo,ooo

It was found that the liabilities contained t 20,000, which was not to be paid.

The new company took over all the assets and liabilities including cash and
agreed to pay purchase consideration consisting of 6,000 shares of { 100
each fully paid and balance in cash. The partners agreed to share the shares
between them in the profit sharing ratio.

Based on the above Iactors in the partner organisation book.

Prepare:

a) Realisation Account

b) Partner's Capital Account

c) Cash Account.

1
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Liabilities

Creditors

BIP

Capital Accounts :

A

B

c

Assets

Cash

Stock

Machinery

Furniture

Debtors 2,50,000

Less: Fleserve 20,000
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90,000

2,60,000

1,90,000

1,00,000

1 1. The Balance Sheet ol A, B and C stood as follows as on 31.1 March,2023 :

{

2,00,000

50,000

2,40,000

2,40,000

1,40,000 2,30,000

SECTION - D

(1x8=8)Answer any one of the following :

12. a) Mr. X sent 2,000 case of goods costing { 1,000 each case to Mr. Y.

Mr. Y sold 1,250 case at t 1,200 each case on cash and 750 case at

{ 1,400 each case on credit. Calculate commission payable to Mr. Y.

i) lf commission is payable at t 100 per case sold.

ii) lf he is entitled to 5% ordinary commission and 2.5"/" overriding

commission.

OR

b) Prepare a format of Joint Venture agreement.

8,70,000 9,70,000

It was decided to sell the business to TVS Co. Ltd. The company agreeing

to allot 7,500 fully paid shares of t 100 each and t 18,000 in cash in full

satisfaction of the purchase consideration. The company assumed all liabilities

except the bills payable and took over all assets except cash. Pass the opening

entries and prepare vertical Balance Sheet.
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dddudc

A?.Iod- a

1. olDdo?ddJa adl wd-{,dorleri e,xdoA. €,gCraod: en d-4d4ri
add: erodd$. (5x2=10)

a) dra6o[3 e3d$$ (Account sales) aodded: ?

b) Eots-erDddd: eSaa d6d6"od aodded: ?

c) zierdrioad e:CdE ?ia)ed)aad aodd olDO ?

d) aauroaod ,oeo$di d,od: uodaad ioirl d>oot^l dra&d obdaaddn
add: erudedrl$di g9:r.

e) 60[,3-eruddd: o-arlo dand idd: drdo-odd dd:ad rod: draaridd:o udooro.

D aeJedoo and aodded: ?

g) dradd erud6,dd1 {;daioaa6i:d oln{oaddo add; epadrl$&* .39$.

AqDrl - ?,)

oJn{oaddo &Ja& 4,d4ll97i ejl)gotu. 4,,9 Ed4ri me)ieoddgo. (3x4=12)

2. dJadnd ddredddd: 600 6"qp aardr,rd9dl {,e aardusri t 500 dod doeercdd
oadedddori daaO$sod. erdd: (dd:ed) < 15,000 ddl mnordd d{dr* edd
dztJfson t 8,OOO dd:y-defoqd. xoroedd ndro$dO- )O ca.p aar*&rtU: *Oa:
dne&dd. eru9d ro+ aardr.fiig adddo$dl oadeu drid:*oodd: d:d: de>
T 750 d od 450 ao& 

"r,-d 
dttr dqdtr dD oa t"l dD a dd:. oaded dd d: xa ro t": d:d; ir odd

(octroi) dal { 10,000 ild) nd&.aei${ 5,000 ilgdiddobtud$. erued draddtr
edd) dDo-rEJd d>eod de. 5 dd*deAgo$di dad dDadrood) ddiDderodori dm
dmrdddDad$.
dDoisdDrld ( d::e od: ) ndEd dPer, dd1 dod)&aoDo.

3. dDo-oorDd mq:oad iodoJ: {)dddO_* dqndCdsri d>eoJ: dnd:d doer,t
oasDeJ aldooro c)

a) d)dd dPe.r, f,o dodrraodzl9dtr drordd dD&ddd6

b) aaer:cndd doioo:od ertuil$i&{ dridAa$F)ddd

c) &eJeaao dz.lf9dlaadg dDddddd

b-
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5. * dddod iorL3rlg $edd oao${d edJd6r dqoldtr dofraoA.

a) D&rd dodz.Dad< 1,00,000 iied 0d6daieDRd.

b) E.g [Jd6 cra$ erDaddoj: a3:eeJ t 10 dod oao$Cdd&4.9edDr0icrDRd.

c) dodd erudJi d)ds3o&6rDd ddd$4 ri,ae4d dea@deolddd dooad:aod.

dodo ane.tlddrd$ eruodd d)t$.jde €r dddodo.9d.

ddr : 2020 2021 2022 2023

wqddd>tu.de(8F6rl9O_): 8,000 9,000 12,000 15,000

6. aaer:oaod no{o$ f$dod eriJrl$ d:Q dodroofrfedl S.rtrod dodoo3Jdd)

dddBtsdtro@d)6Jd.

t {

1,50,000

80,000

3,00,000

?i.,atu ildl dt{d 5,50,000 m*dd d:Q o3:odgedddm

2,00,000

70,000

a1:rdrldJ

xao$d er:)

(Freehold property)

aDoea deio$dJ eiuoz5od d>6.-4 d

z,aO dodroofrlct

4. ddD d)+ Addd6 (Dd d)a) ddddb42 : 1 d $d>eadO_dorSdortp xoo.3 en:drd:do_

,d erDddards/0d6. dd)Ddd6 ( 1,20,000 dlal Adddd { 1,60,000 dd} doad
dDAddJ (?"dn$dcb). €1 d.(aad 6eadd:n eoro8d xou: aDdri 23$a dDCd$.
dd)udddr t 1,80,000 #e.rrd nd&rtgdl dade,$d$ d)dl < 12,000 dq.rdab.

qJoAd$. sddd$ T 1,50,000 a*Pe.:rd dtqrt9Q(dBd,rr,dab d)a? < 10,200 datrdDn

d,,obArd$. AddddJ ao_ ndd:if$Q < 6,50,000 dra. dgri dDUJB dtDAdd).

Addddr ?3ddtr Oed)d d}aed aor^3 erudrd: ando::d1dute, dDad,aod6.

dr d:eerood eroErl$ d)edd ddDddd d{ddo_eto$ erudrd: ,Ddo$$* dolDO:).
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oln{oaddn *Ja& 4,d4rl9ri erudo,l. {,9otnod: E,d4ri d* erodrl$c. (3x10=30)

7. ajoilglood aErar uor[Jo OtuEJ66ddd) d>elood ejoedef .rd8defri 1,000

?Dd[Joirdde 4e aDdtiori t 3,000 dod ddd: daad dnooeodo- d6)o:J$.

id$ dstu&foaad t 50,000 dd1 xanodd dq. d)+ adra d46Dn t 50,000 dde

mdgAdd:. xaro# id:o$do- 20 r"Dd[Joddr d9vdda-rnqd 6"n"R adD

dod&obod < 20,000 d9 ad'o droddtr ddd:doodd:. elnedes adErdef eru9d

d6"DAd ?,]ad[3oi1gdtr &edoAddJ d:d: se$d d?* t 10,000 ddi a"detud&.

dD orldaD R a 1 5, 00, 000 rl$ d)oari L&,rio$dl nJa8&dd:. eloeded aeJS.dcf ddd:

4e rDd030ri { 4,000 dod 500 zJEd[3ozf$.f} .Jdarl d)d) €,.9 ?Ddt3oli { 4,500

dod 350 zro^t3orl$dJ raed dodd0 dDoJt3 dnaddJ. erdd: IiJae6"a)d zaarl,ct

{ 30,000, ?ro&eord) du* < 7,500 d:d: dnooonadd doud { 25,000 rl9dtr

?iotud$. ndd) tsIed0nJ6md dDosd dreeJ de. 5 ddlrad>d, deto-v drdJ xood

d.rrore,3d d)ed de. 2 dddef 4dor de*9ri edruoAo-ood. eloedef aeJfdef ddd:

zo8 deadatl z.rodotr d:oao$ iloed nd$ doadoad0ri dmro$Fr6tJod.

od,rd cJEdu3oo$dd ddEdo_ doad p:ad d)d) elaedes aeJfdoddd amdoJ:Q

da1JDor).

8. Buard6.:redJiddtr dolroo:r EndJd Bo[,3 wdrd:Eo d)deef a$4 aaodrddd: Bd

eroddturlqrod$. itDFdd tuOdJa Odnrrodo { 20,00,000 dd o_od8 d>&d r."uio$d1

i6?3,tr$. d:deefddd: { 3,00,000 rlddtrdrdl ooodrdddo T 1,50,000 d$d}droBd

dDadd>. * drrad deaddl s:'ado3d tsoL3 a>dri acdra dDad6. d9dod dt"l;lVQ

uJadod ?j0[.3 atodol) droe.td 6idB drr6dd).

{

1,00,000

s0,000

75,000

erudEdsarl$ $oeA

-8-

erudddearl9 eroari d?3

cJ(9 aJ
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2021 2022

8,500 12,500

9. erdlaaf $drJd dddJ d0_{er: .adrd q1otu o$di o"deef tu on6 ddood do e rt do

zcddo 1, 2020 dod: dduJ:doodd:. Cioe{d OoJ:drilcjJ dddodoSd :

1 ) {,,.9 t,ld6ri oaod:Cd { 10 dod &d6dGxld

2) ErD"\rd deq zDaTi ? 1,00,000.

3) Endd erudd Q;daioasaareD drae{d doder drocb ddrrl9 caeradaod OederJnd.

iouofidt"l.,addd$ * dddodo3d :

2023

14,000

t
4,50,000

1,00,000

1,20,000

ddr :

ED@ddd)urde:
deJ

2020

8,000

(r3F6rl9OJ

de{ m a ri eqrdd e B o$O- sdraE6$t$ao{ddd {r{dd O- edd, & dcd doex:
dJoeJ Ddobo.

10. do, Ro d)d) daddc,J 6)eD6odd no{oJ: E)w.5DdctoRd) e))CJ dr+ d*dq
3 : 3 '. 2 d ed:aaddO-dot38osUgDd. edd epd dqdob 31 -03-2023 d6 d3

{

2,00,000

't,25,000

75,000

er,rrd9c

mdd

qlJoar ild) duld

I I
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dt"ld ioq:add 1,00,000

:iadrDrlst 65,000

qdd d?ij,l$b 35,000

dJde8dd$ ddD&ri d:ero { 10,000 dd} aad.9tud6. tuodra &dnrrad dcdd,
irord{ s.&d d'oddl E?deRrd). rrudddearl$d;ot 20,000 zlgd #e.t,dd1OCFo:r
aaodrddd: dddB:rd.,aoddr. cDCJ d:q d*dq 2 : 1 d ed:aaddO_dorsdo9cpd:.

{,dred ${ddddtr OdF&i:.Aa-ood aou enodoJooarl eddrdaahd:d andrl9Q
dolDoA.

d9dodogd.

z3Dz,Dorlste

C$rl$r

tuede))rig.)

aad.9izJeoad d:oa
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2,00,000

2,00,000

1,00,000
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^ \ ^,..:dt . +^GJU(/9C.J.l.tl . (D\J

RO

'?\\JC^]

rbdi'lcb

(-) ed:d>oa{d
:ar \ra.?arr

?JddefJd d)oa

d,roiOJ$d Jddr

1,50,000

10,000

1,40,000

60,000

30,000

9,00,0009,00,000

ggd) Doa&d)dedodd, do#naodo$O_d t 20,000 e"d,gier> erRdOo-.

dol dod> Doda-rd io{of: deadi{ ?.9riraodod oerr-cr&dqJ &d: dJadriDodrl9dtr

EDeDC5add ioioood ddda:rdJooad 6-odJa sDoea dOdsadob$ den t 100 aJejol:
QET

{pgr mdgobd 6,000 aad>d, ded:ilgdl adoBJddr $d) eD8 dn$ddl dead

droe;d aad8i:$oaA t adooBd:o'od. aaeD6"dd), EDoea6"d ioioi: Oed:d

de d: rl9d: erdd o.a q1 doz.3d er d:aod dO_ dozido9rel .{d:E O.

d>eOd ercdd$ uqadd d:edri o-aer:aad ioioJ: d)dddO_

a) adeoao arod

b) oowoadd uodaad a>od

c) drld: atrdd$dtr doiEo:,.

11. D, a d)d) :) dddr De))drod ioio1) u6ad d$d 3'l-3-2023 do€r d9dodotsd.

t;For.rooorlgJ t er&dcb t
drdil$J 2,00,000 ddd: 90,000

aod9izJerad d:oa 50,000 cDe& 2,60,000

uodaad a>adildc : oJ:odgedddea 1,90,000

a 2,40,000 aednedddeai'lgt 1,00,000

a 2,40,OOO ilb$d$ 2,50,000

& 1,40,000 (-) tu(ne.)) 20,000 2,30,000

8,70,000 8,70,000
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$. a. ax6. dodD Oald66rl mq:ood ioioJ: drdoad dnoon: d>del 0drolrd6.
sDoeo dorlmdoJ:d1uda'a ddo$dl €BraraDR 6id.9$d)d d(rJ T '100 d ?rejo$

7,500 ded:rl9di AdorDd)& d)d? t 18,000 dddl ddmn oadeto{d:. $oeo6rd
dodDol> uodgddead d)oc d)d.) .Jifddi dndd)dAtu aeqdodnaod,i$b ildr
errr rld$ dddG,tudraoddr.ict

E?,do?pd &oeeo oa$Otu d:d: ooododd epad d9, dolDotu.

€s dgnd e^,oc$ {,dnrl erudoAr : (1x8=8)

12. a) ar. addd& tu. dd ddod 4,e dt"3jiriT 1,000 rl9 d:oe; ddd 2,000 dt"3,jri719d1

drDp$6rd. tu. d ddd) 4,e dqriobdl < 1,200 dod 1,250 dr,3ridgde ddari
d)Q 6.4 d%riobdl T 1,400 dod 750 dr,3Jri,l$dl xae;d dnddo_ dDo)tr
dDad$. tu. d ddod dr dgdod iqdedd$O_deAe drad d,agdq duay^ad

c^LrdOS.

i) 4.9 dr,sJdri t 100 dod deD_e dsa &eadd

ii) de.5 ddo",xad>d, der*e d:d: de.2.5 ddlL,do6draonr derr-e d,torsd
d:eej;od,9add

sddo

b) Eo[,3 eruddd)d z"d.od d$d cdadidd] dolDo:l.

a?trJrl- E


